EAGRAROBREERT — 2 N— ABISH —F

201959R8H (B) 4mE+1L2H

4R i) A

‘ [R1&] & ‘ [REBB] — | & (&) 12000 B

1877 4 [8%E] T8
(A%4] 1% 7,500,000 § ~ 2 7 :3,000,000 0 ~ 3#:

3 &

1,900,000 M

/4 7% 11,100,000 M

/5 & 750,000 M

BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
S FBEIR 1. - . . I (EH)
{FI3INT—2 it 3 s 1(1_1)1 5-4 36.9] 943 | 2 ig? nm 'z
SANZRATNYG BiRY I AHI o FHE
=117 . _ sEkE 5
Iy 7o L X [B] i 3 E%Iﬁz (11.111/.43) 6-6 37.0| 92.4 | 7 480 Sggg (=)
R:29)—>e—A— B:IVIN-T (#2) KRS
° 2T : - pullad= i
EAY Ry TAEY [B] i 6 | EHTE 1(711t5°, 10-8  |36.3| 928 | 6 ge) (Hsaiuﬁ(%;%j
LNn—ErTv— B:ehHUI—FHLvy b & #um
=7 PR 1. — . . KEFRIL (E/)
X— LT L 4 3 ey (11 111/26) 2-2 37.7| 89.6 | 1 (ﬁsg) E.:EE?—E
LHIRTATFTR BiAAIRO—L HET7— A
N KEFRTR 1. - . . FRERSL ()
®FE>TL—J 4 4 &0 1(11/12)7 10-10 36.8| 88.9 | 13 <4+362) b di
R:F4=TA>N7 s B:Frdz5 HE77—»4L
- _ = it 3 | FlREX 1:11.8 8-6 37.1|87.9 | 9 496 | FEE= (i)
NZ—F 1247 [B] 53.0 (3/4) 46) | W) ELA-TU—g-x -2
L= R7Ua—lb B:&yddNn=— 55 RS
33 N 4 5 | NEBH 1:11.9 8-8 37.1| 87.0 | 16 444 | FRIBZE (EH)
21— 3 RN 2530 (1/2) ) |RHEE ()
Z:Nd B ZXHIFRIUN [EEEe]
) 3 s 4 | EDFA(E 1:12.2 15-10 | 36.6 | 84.5 | 3 460 | REFE— (EH)
8l5l9|7AROTI 5.0 (' 1/2) 4e) | ZEAHITLY KIFT
T =TTVUTLT BiXA—PETLy b ¥RV
< = BB 112.2 2-2 . . MEEME (EH)
ol1lo|7r3a—5> it 5 me 1*;15“) 38.3| 84.7| 8 (5+182) ot
LRy —b—A- B:F5E-3F Y v LS
S 4 3 | EEAA 1:12.3 14-13 | 37.0| 83.4 | 12 | 450 |FAEEAME ()
108|16| 717~V == 53.0 (7 6) o) | BE-T
R:2Gr T v F—F7—K—K B:T7AT7>7YyIs— RO%%
4 3 | BFPIEKER 1:12.4 4-4 38.4| 8.9 | 5 ag | BHET (EH)
11012 74 —77—F #52.0 (3/4) (p) | MEHE
LiANTz—TI B:I9A T 807 BREB  Hm
S IREK : - e ZFEL (3EH)
12 7|17V eTET [B] it 6 e (11.112/.5 12-13 | 37.4| 80.5 | 15 ;1;2) wEna
L:€rs0704 B:7U—LixT HROUE D45
B BEE%tT 13, - . . fREEAL (i)
13011 1 Y4 KX FY—F 4 4 et 1(13)2 1-1 39.4| 77.4 | 4 (4;4) it
ANXZATING BATY=XH-F > HH BE
Sy © ANHETGH :13. - . . W= (EB)
1418115 ~YJA—5 3> 4 3 e 1(143)9 7-12 39.5| 71.3 | 11 (436) e
RV RKYZYRAIR B:RUITF—7 759 BEts
S . it 3 | BEEMAR 1:14.0 16-16 | 37.5| 68.0 | 10 | 500 |EMES (Xik)
15/7[13| Y~ #—RA—-L>2Z [B] 450.0 (12 Gy | B S
RNZ—kb21—-X B:V-H-—o1>7 Valrae]
it 4 | BEHEA 1:14.1 12-13 [ 39.0| 68.4 | 14 | 474 |/NEEZ (KiH)
16 5| F—AXZ—%2Z 55.0 (3/4) (-12) | DREE{E
R:NZ—ka1—-X B:ZI/EFX> EEt e
@ 71 L
) 48.8-37.3
NA>Z4 L | 11.7-10.6-11.5-12.0-12.5-12.8
® I —F—@EBIERL
13—7+—
20—7—
30—4— 1(2,8)12,4,6,15(3,11) (10,14) (5,7)16,9=13
43—7F— |1(2,8) (4,12)(3,6) (10,11) (9,14)15(5,7,16)=13
[ N3
BB 4 540M 714K 4-6 1,060M e E 2-3 2,680 JEHE 4-6-10 9,730MH
18 B 4 210M 4-10 960M B = 4-6 3,060M K31 4-6-10 42,050
6 350 6-10 1,640M B H 4-6 4,890
10 290M

ABRICOVTHRTEEERROODE, THEB LS,




